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1. (Similar Question seen 127 times, last seen on 2/28/2003 12:00:00 AM
Click Here)

How do you differentiate an ATA/33 ATA/66 cable?

A. Cable color. 
B. Cable pin out. 
C. Twists in the cable. 
D. Number of wires. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
5%
7/133
Rationales

D
87%
116/133
Rationales

B
6%
8/133
Rationales

C
2%
2/133
Rationales

Question Locked

2. (Similar Question seen 111 times, last seen on 2/28/2003 12:00:00 AM
Click Here)

How many devices can work on a single IDE channel?

A. 1 
B. 2 
C. 3 
D. 4 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
94%
84/89
Rationales

C
1%
1/89
Rationales

D
4%
4/89
Rationales

Question Locked

3. (Similar Question seen 75 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

Which of the following is NOT a feature of a machine protected by a UPS?

A. Long term power supply. 
B. Short term power supply. 
C. Surge protection. 
D. Power lag protection. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
98%
84/86
Rationales

D
1%
1/86
Rationales

C
1%
1/86
Rationales

Question Locked

4. (Similar Question seen 118 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

In a dot matrix printer, what strikes the paper to create the intended image?

A. Pins 
B. Hammer 
C. Character Wheel 
D. Electromagnets 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
98%
128/131
Rationales

B
2%
2/131
Rationales

D
1%
1/131
Rationales

Question Locked
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5. (Similar Question seen 111 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

What is the minimum cable type for 10baseT?

A. Cat 3 
B. Cat 4 
C. Cat 5 
D. Cat 6 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
92%
91/99
Rationales

C
8%
8/99
Rationales

Question Locked

6. (Similar Question seen 83 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

The mouse pointer moves erratically. What is the possible cause? The Mouse:

A. Ball is dirty. 
B. Is not connected. 
C. Driver is not installed properly. 
D. Has an incorrect IRQ setting. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
82%
84/102
Rationales

C
17%
17/102
Rationales

D
1%
1/102
Rationales

Question Locked

7. (Similar Question seen 174 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

A workstation has been installed on a LAN, but is unable to communicate with the network. What should you do first?

A. Reinstall the protocol. 
B. Reinstall the NIC driver. 
C. Verify the IP configuration on the workstation. 
D. Verify the link status on the NIC. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
86%
104/121
Rationales

C
14%
17/121
Rationales

Question Locked

8. (Similar Question seen 70 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

What is the base address of the video card?

A. C000-C7FFF 
B. C000-CAAA 
C. D000-D800 
D. D000-DAAA 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
97%
62/64
Rationales

D
3%
2/64
Rationales

Question Locked

9. (Similar Question seen 106 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

In a plug and play system, installing a second hard drive what determines the drive letter?

A. End user 
B. Position on cable 
C. Operating system 
D. Drive manufacturer 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
2%
3/142
Rationales

C
80%
114/142
Rationales

B
13%
19/142
Rationales

A
4%
6/142
Rationales

Question Locked
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10. (Similar Question seen 82 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

You replace your CMOS battery. What must you do next?

A. None FDISK. 
B. Flash the BIOS. 
C. Set the date and time. 
D. Format the hard drive. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
2%
2/103
Rationales

C
93%
96/103
Rationales

B
2%
2/103
Rationales

D
3%
3/103
Rationales

Question Locked

11. (Similar Question seen 122 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

By default, which address does the secondary IDE controller use?

A. 100H 
B. 170H 
C. 1F0H 
D. 300H 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
2%
3/127
Rationales

A
8%
10/127
Rationales

B
82%
104/127
Rationales

C
8%
10/127
Rationales

Question Locked

12. (Similar Question seen 124 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

Which of the following chips are Slot A compatible?

A. Pentium 233 MMX 
B. PII 233 
C. PIII 800 
D. AMD Athlon 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
2%
2/110
Rationales

D
92%
101/110
Rationales

B
4%
4/110
Rationales

A
3%
3/110
Rationales

Question Locked

13. (Similar Question seen 173 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

A User reports his network laser printer won’t print. The printer is online, showing no errors. What could be the problem?

A. Press the Reload button on the printer. 
B. Delete the existing print jobs from the print buffer. 
C. Click print until the buffer clears. 
D. The printer setting is set to print offline. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
1%
2/224
Rationales

D
57%
128/224
Rationales

B
38%
86/224
Rationales

A
4%
8/224
Rationales

Question Locked

14. (Similar Question seen 124 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

A user cannot log onto the LAN with an IPX/SPX card. No other computers are reporting problems. Oddly, the computer can access some resources but NOT ALL. What is most likely the problem?

A. Server down. 
B. Bad patch cables. 
C. Incorrect username and password. 
D. Incorrect frame type. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
3%
5/145
Rationales

D
74%
107/145
Rationales

C
12%
17/145
Rationales

B
11%
16/145
Rationales

Question Locked
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15. (Similar Question seen 119 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

What is the highest possible ID on a 3 jumper block SCSI device?

A. 3 
B. 6 
C. 7 
D. 15 
E. 32 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
3%
5/144
Rationales

A
2%
3/144
Rationales

C
88%
127/144
Rationales

E
1%
1/144
Rationales

B
6%
8/144
Rationales

Question Locked

16. (Similar Question seen 74 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

What has occurred when HDD fails, making a grinding noise?

A. Controller failure. 
B. The Read/Write head is in contact with the platter. 
C. Hard drive is in power save. 
D. Hard drive is in labor. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
96%
120/125
Rationales

D
3%
4/125
Rationales

A
1%
1/125
Rationales

Here

17. (Similar Question seen 93 times, last seen on 2/24/2003 12:00:00 AM
Click )

What is the POST code for FDD failure?

A. 3xx 
B. 2xx 
C. 5xx 
D. 6xx 
E. 7xx 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
1%
1/117
Rationales

C
1%
1/117
Rationales

D
94%
110/117
Rationales

E
3%
3/117
Rationales

A
2%
2/117
Rationales

Here

18. (Similar Question seen 120 times, last seen on 2/24/2003 12:00:00 AM
Click )

A technician places a second HDD as a slave on the ONLY IDE controller. The primary drive is no longer detected. How should you troubleshoot this?

A. Replace the Primary HDD. 
B. Replace the Secondary HDD. 
C. Rejumper the CD-ROM 
D. Jumper the second HDD as a master and test it alone. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
1%
1/103
Rationales

D
93%
96/103
Rationales

B
4%
4/103
Rationales

C
2%
2/103
Rationales

Question Locked

19. (Similar Question seen 88 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

What IRQ provide interrupts 9 through 15?

A. 1 
B. 2 
C. 3 
D. 4 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
2%
2/80
Rationales

B
92%
74/80
Rationales

A
2%
2/80
Rationales

C
2%
2/80
Rationales

Question Locked
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20. (Similar Question seen 131 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

Purchased three new USB devices and want to add them to your laptop but you only have one IRQ available. How many IRQs will your USB modem, mouse and keyboard use?

A. 1 
B. 2 
C. 3 
D. 4 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
97%
117/121
Rationales

C
2%
3/121
Rationales

D
1%
1/121
Rationales

Question Locked

21. (Similar Question seen 101 times, last seen on 2/22/2003 12:00:00 AM
Click Here)

Which devices have similar looking connectors? (Choose Two)

A. USB 
B. PS/2 Mouse 
C. ATX Keyboard 
D. Parallel Printer. 
E. SCSI Scanner 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
1%
2/154
Rationales

B
1%
1/154
Rationales

A,B
1%
1/154
Rationales

B,E
1%
1/154
Rationales

A,D
1%
1/154
Rationales

B,C,D,E
1%
1/154
Rationales

E
1%
2/154
Rationales

A,B,C,D,E
1%
1/154
Rationales

B,C
79%
122/154
Rationales

D,E
14%
21/154
Rationales

B,D
1%
1/154
Rationales

Question Locked

22. (Similar Question seen 78 times, last seen on 2/22/2003 12:00:00 AM
Click Here)

Why would a laser printer print a blank page when the drum DOES have an image written on it?

A. Transfer corona failure. 
B. Bad communications between computer and printer. 
C. Corrupt driver. 
D. Rollers need lubrication. 
E. Low Toner. 
F. Fuser failure. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

F
1%
1/77
Rationales

A
91%
70/77
Rationales

E
6%
5/77
Rationales

B
1%
1/77
Rationales

Question Locked

23. (Similar Question seen 52 times, last seen on 2/22/2003 12:00:00 AM
Click Here)

Which of the following types of memory are used in a computer? (Choose Three)

A. RIMM 
B. SIMM 
C. DIMM 
D. VRTRAM 
E. CRAM 
F. PTRAM 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B,C
1%
1/87
Rationales

A,B,C
95%
83/87
Rationales

B,C,E
1%
1/87
Rationales

B,C,D
2%
2/87
Rationales

Question Locked

24. (Similar Question seen 109 times, last seen on 1/21/2003 12:00:00 AM
Click Here)

You get a CMOS checksum error upon boot. What is the most likely cause?

A. Power supply failure. 
B. BIOS needs updating. 
C. CMOS battery is nearing end of life. 
D. HDD types are incorrectly defined. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
4%
4/113
Rationales

C
91%
103/113
Rationales

A
3%
3/113
Rationales

D
3%
3/113
Rationales

Question Locked

25. (Similar Question seen 57 times, last seen on 12/10/2002 10:15:00 PM
Click Here)

You place terminations on a SCSI bus with one internal hard drive and one external CD-ROM drive?

A. Terminate the hard drive only. 
B. Terminate the SCSI interface card. 
C. Terminate both the hard drive and CD-ROM drive. 
D. Terminate the SCSI card, hard drive and CD-ROM drive. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
1%
1/119
Rationales

C
92%
110/119
Rationales

A
3%
4/119
Rationales

D
3%
4/119
Rationales
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26. (Similar Question seen 154 times, last seen on 2/27/2003 12:00:00 AM
Click Here)

A video resolution of 800 x 600 is equivalent to which video mode?

A. EGA 
B. VGA 
C. CGA 
D. SVGA 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
88%
88/100
Rationales

B
11%
11/100
Rationales

C
1%
1/100
Rationales

Question Locked

27. (Similar Question seen 104 times, last seen on 2/27/2003 12:00:00 AM
Click Here)

Which of the following settings are set in the EEPROM of a NIC? (Choose Three)

A. IRQ 
B. Protocol 
C. IP Address 
D. I/O address 
E. MAC Address 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B,C,E
1%
1/98
Rationales

B,D,E
1%
1/98
Rationales

A,C
1%
1/98
Rationales

A,D
1%
1/98
Rationales

A,B,E
2%
2/98
Rationales

C,D,E
2%
2/98
Rationales

A,C,D
1%
1/98
Rationales

A,D,E
87%
85/98
Rationales

A,B,D
2%
2/98
Rationales

A,B,C
2%
2/98
Rationales

Question Locked

28. (Similar Question seen 91 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

Which of the following chips are Slot 1 compatible? (CHOOSE TWO)

A. Pentium 233 MMX 
B. PII
C. PIII
D. PIII 800 
E. AMD Athlon 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C,D
1%
1/145
Rationales

C,E
1%
1/145
Rationales

A,B
2%
3/145
Rationales

A,E
1%
1/145
Rationales

B,E
1%
2/145
Rationales

B,C,E
3%
5/145
Rationales

A,B,C
1%
1/145
Rationales

B,C
37%
53/145
Rationales

B,C,D
49%
71/145
Rationales

C,D,E
2%
3/145
Rationales

B,D
3%
4/145
Rationales

Question Locked

29. (Similar Question seen 84 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

Which two ports are most often used to connect a digital camera to a computer? (choose two)

A. USB Port 
B. SCSI Port 
C. PS/2 Port 
D. Parallel Port 
E. RS-232 Port 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B,E
1%
1/95
Rationales

A,B,C,D,E
1%
1/95
Rationales

B,D
1%
1/95
Rationales

D
1%
1/95
Rationales

A,E
86%
82/95
Rationales

A,D
5%
5/95
Rationales

A
4%
4/95
Rationales

Question Locked
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30. (Similar Question seen 73 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

Which problems will not be recognized by initial POST? (choose two)

A. Bad memory location. 
B. ROM BIOS configuration failure. 
C. A stuck key or defective keyboard. 
D. A RAM chip that fails at high temperature. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
1%
1/107
Rationales

A,C
3%
3/107
Rationales

A,B,C,D
1%
1/107
Rationales

B,D
19%
20/107
Rationales

C,D
3%
3/107
Rationales

B,C
1%
1/107
Rationales

A
2%
2/107
Rationales

A,D
64%
68/107
Rationales

D
7%
8/107
Rationales

Question Locked

31. (Similar Question seen 82 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

Which of the following devices does SCSI support? (Choose 3)

A. CD-ROM 
B. Tape 
C. Modem 
D. HDD 
E. Video Card 
F. Sound Card 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C,E,F
2%
2/100
Rationales

B,C,D
1%
1/100
Rationales

A,B,C,D,E,F
1%
1/100
Rationales

A,B,D
92%
92/100
Rationales

A,C,D
1%
1/100
Rationales

A,B,C
3%
3/100
Rationales

Question Locked

32. (Similar Question seen 127 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

If a computer suddenly restarts and light flicker, which event probably just occurred?

A. Electrical sag. 
B. Electrical surge. 
C. Prolonged power outage. 
D. Power overload and circuit shutdown. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
86%
97/113
Rationales

B
11%
12/113
Rationales

D
4%
4/113
Rationales

Question Locked

33. (Similar Question seen 100 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

By default, which address does the primary IDE controller?
A. 130H 
B. 170H 
C. 1F0H 
D. 300H 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
4%
3/84
Rationales

C
93%
78/84
Rationales

A
2%
2/84
Rationales

D
1%
1/84
Rationales

Question Locked

34. (Similar Question seen 74 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

What must you do to attach a new IDE hard drive? (CHOOSE THREE)

A. Select a unique ID. 
B. Set the termination jumpers. 
C. Set the master/slave jumper. 
D. Ensure proper cable orientation. 
E. Install drive bay and secure it properly. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,C,D
1%
1/82
Rationales

E
1%
1/82
Rationales

A,C,E
2%
2/82
Rationales

C,D,E
91%
75/82
Rationales

A,D,E
2%
2/82
Rationales

B,C,E
1%
1/82
Rationales

Question Locked
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35. (Similar Question seen 84 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

What does the BIOS do when a plug and play card is installed?

A. Looks for the manufacturer of the card. 
B. Checks the processor ID for compliance. 
C. Disables the other cards until the new card is installed. 
D. Consults the ESCD to determine which system resources are available and needed for the card. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
1%
1/80
Rationales

D
94%
75/80
Rationales

C
2%
2/80
Rationales

B
2%
2/80
Rationales

Question Locked

36. (Similar Question seen 90 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

How are SCSI ID numbers prioritized? (CHOOSE TWO)

A. 0 = lowest 
B. 0 = highest 
C. 1 = lowest 
D. 15 = lowest 
E. 15 = highest 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
3%
5/167
Rationales

A,B,C,D,E
1%
2/167
Rationales

D
1%
1/167
Rationales

A
1%
1/167
Rationales

B,C
1%
2/167
Rationales

A,D
1%
1/167
Rationales

A,B
1%
2/167
Rationales

B,E
2%
4/167
Rationales

B,D
51%
86/167
Rationales

A,E
38%
63/167
Rationales

Question Locked

37. (Similar Question seen 113 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

What does memory mapped I/O do?

A. Maps IRQs to PCI interface cards. 
B. Acquires a unique ID for each memory module. 
C. Duplicates the contents of the ROM BIOS into RAM. 
D. Uses the same address space for memory locations and peripheral devices. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
2%
2/93
Rationales

D
89%
83/93
Rationales

A
4%
4/93
Rationales

C
4%
4/93
Rationales

Here

38. (Similar Question seen 74 times, last seen on 2/24/2003 12:00:00 AM
Click )

What statistic measures the time it takes a CRT’s electron beam to paint the screen from top to bottom in a monitor?

A. Dot pitch 
B. Interlacing 
C. Video RAM 
D. Refresh rate 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
91%
74/81
Rationales

C
2%
2/81
Rationales

B
6%
5/81
Rationales

Question Locked

39. (Similar Question seen 173 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

A bent pin on a 3-row db-15 male connector plug could cause problems with which device or component?

A. Monitor 
B. Mouse 
C. Printer 
D. External modem 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
1%
1/107
Rationales

A
95%
102/107
Rationales

D
3%
3/107
Rationales

B
1%
1/107
Rationales

Question Locked
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40. (Similar Question seen 110 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

What is the first step in diagnosing a completely dead computer that was working fine the day before?

A. Test the power supply. 
B. Replace the CMOS battery. 
C. Check the AC outlet for voltage. 
D. Reseat the hard drive cable controller. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
90%
94/104
Rationales

A
9%
9/104
Rationales

B
1%
1/104
Rationales

Question Locked

41. (Similar Question seen 104 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

After inserting a floppy disk and accessing the A: drive, you get the error message “Drive A not ready, Abort, Retry, Fail.” What two things should you suspect first? (choose 2)

A. The drive is bad. 
B. The floppy disk is bad. 
C. The drive cable is bad. 
D. The power connector is loose. 
E. The drive is dirty and needs to be cleaned. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,B,C,D,E
1%
1/130
Rationales

A,C,D
1%
1/130
Rationales

A,B
5%
6/130
Rationales

B,C
5%
7/130
Rationales

A,D
1%
1/130
Rationales

D
2%
2/130
Rationales

A
1%
1/130
Rationales

B,D
2%
2/130
Rationales

B,E
49%
64/130
Rationales

E
15%
19/130
Rationales

B
20%
26/130
Rationales

Question Locked

42. (Similar Question seen 122 times, last seen on 2/21/2003 1:38:23 PM
Click Here)

Your modem will not detect a dial tone. What are the most two most likely reasons? (choose two)

A. Cable is not plugged in. 
B. The phone line is defective. 
C. The modem is set for tone dial. 
D. The Internet service provider is down. 
E. The modem is set to disable call waiting.49. A non-parity 168-pin SDRAM DIMM is how many bits? 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B,E
1%
1/99
Rationales

B,C
1%
1/99
Rationales

A,E
3%
3/99
Rationales

A
2%
2/99
Rationales

A,B
85%
84/99
Rationales

A,C
5%
5/99
Rationales

A,D
3%
3/99
Rationales

Question Locked

43. (Similar Question seen 93 times, last seen on 2/14/2003 12:00:00 AM
Click Here)

Which AT command is used to reset your modem’s configuration?

A. AT 
B. ATD 
C. ATH 
D. ATZ 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
94%
85/90
Rationales

C
3%
3/90
Rationales

A
2%
2/90
Rationales

Question Locked

44. (Similar Question seen 71 times, last seen on 1/23/2003 12:00:00 AM
Click Here)

Which type of connector is used by analog modems?

A. AUI 
B. BNC 
C. RJ-11 
D. RJ-45 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
1%
1/89
Rationales

C
93%
83/89
Rationales

B
2%
2/89
Rationales

D
3%
3/89
Rationales

Question Locked
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45. (Similar Question seen 56 times, last seen on 1/23/2003 12:00:00 AM
Click Here)

Which type of connector is used by modems?

A. AUI 
B. BNC 
C. RJ-11 
D. RJ-4552. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
98%
78/80
Rationales

B
1%
1/80
Rationales

D
1%
1/80
Rationales

Question Locked

46. (Similar Question seen 88 times, last seen on 1/21/2003 12:00:00 AM
Click Here)

Where can you find the BIOS version ID?

A. System Properties. 
B. BIOS setup screens. 
C. Motherboard manual. 
D. On the back of the computer. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
4%
4/106
Rationales

B
93%
99/106
Rationales

D
2%
2/106
Rationales

C
1%
1/106
Rationales

Question Locked

47. (Similar Question seen 106 times, last seen on 12/13/2002 7:01:49 AM
Click Here)

You would have to enable int13h support on a SCSI controller card in order to use which device?

A. Scanner 
B. Bernoulli 
C. Tape device 
D. Bootable CD-ROM 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
17%
21/123
Rationales

C
56%
69/123
Rationales

D
17%
21/123
Rationales

A
10%
12/123
Rationales

Question Locked

48. (Similar Question seen 88 times, last seen on 12/13/2002 7:01:17 AM
Click Here)

Which motherboard types accept 5 pin DIN keyboard connectors? (CHOOSE TWO)

A. AT 
B. XT 
C. LT 
D. ATX 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,C
1%
2/140
Rationales

D
1%
2/140
Rationales

A,B,C,D
3%
4/140
Rationales

A,B
74%
104/140
Rationales

A,D
16%
23/140
Rationales

A
4%
5/140
Rationales

Question Locked

49. (Similar Question seen 67 times, last seen on 12/10/2002 10:14:54 PM
Click Here)

Which of these devices are designed for an AGP slot?

A. Hard drive 
B. Serial port 
C. Video card 
D. External storage device 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
97%
101/104
Rationales

A
2%
2/104
Rationales

B
1%
1/104
Rationales

Question Locked

50. (Similar Question seen 109 times, last seen on 12/10/2002 10:14:48 PM
Click Here)

When you boot up your computer the light on the diskette drive lights up and stays lit. What does this mean?

A. Disk is in the drive. 
B. No disk is in the drive. 
C. The data cable is installed backwards. 
D. The diskette drive is functioning properly. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
94%
88/94
Rationales

A
3%
3/94
Rationales

D
3%
3/94
Rationales

Question Locked
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51. (Similar Question seen 105 times, last seen on 2/27/2003 12:00:00 AM
Click Here)

A customer calls and states that her computer will not boot. She hears noises and sees lights inside the box, but nothing shows up on the monitor. Which of the following is most likely the problem?

A. HDD 
B. Video Card 
C. Power Cable 
D. Power Supply 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
92%
48/52
Rationales

A
6%
3/52
Rationales

D
2%
1/52
Rationales

Here

52. (Similar Question seen 122 times, last seen on 2/27/2003 12:00:00 AM
Click )

A customer calls and states that the computer reboots on its own. What is more than likely the cause?

A. The BIOS is set to reboot periodically. 
B. The external SCSI CD-RW is using too much power. 
C. The CMOS is configured to power-cycle periodically. 
D. The power supply is not providing enough power to the system. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
96%
49/51
Rationales

A
4%
2/51
Rationales

Here

53. (Similar Question seen 50 times, last seen on 2/26/2003 12:00:00 AM
Click )

Which component on a printer should you check first when an error code indicates a paper jam but no paper is in the printer?

A. Tractors 
B. Print head 
C. Platen folder 
D. Paper-Feed Sensors 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
98%
40/41
Rationales

A
2%
1/41
Rationales

Here

54. (Similar Question seen 44 times, last seen on 2/26/2003 12:00:00 AM
Click )

Which of the following cable types is required for 100BaseT cable?

A. Cat 1 
B. Cat 2 
C. Cat 3 
D. Cat 5 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
88%
36/41
Rationales

C
10%
4/41
Rationales

A
2%
1/41
Rationales
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55. (Similar Question seen 79 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

How many IRQ’s does a chain of USB devices require?

A. 1 
B. 2 
C. 3 
D. 4 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
95%
37/39
Rationales

B
5%
2/39
Rationales

Question Locked

56. (Similar Question seen 89 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

After installing a sound card, the system locks up when a parallel port tape backup unit also runs. Which of the following is most likely the problem. (Choose Two)

A. IRQ 
B. DMA 
C. Defective LPT port. 
D. Defective tape driver. 
E. Defective sound card. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,B
81%
43/53
Rationales

A,E
13%
7/53
Rationales

A,C
6%
3/53
Rationales

Here

57. (Similar Question seen 72 times, last seen on 2/24/2003 12:00:00 AM
Click )

What can be done when a system’s IDE controller fails? (Choose Two)

A. Replace the motherboard. 
B. Install and add-on card. 
C. Replace the HDD. 
D. Replace the cable. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
2%
1/56
Rationales

A,C
4%
2/56
Rationales

C
2%
1/56
Rationales

B,D
9%
5/56
Rationales

A,B
80%
45/56
Rationales

B
4%
2/56
Rationales

Question Locked

58. (Similar Question seen 67 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

The computer is unable to boot from a floppy? Which of the following is most likely the problem? (Choose Two)

A. The drive is defective. 
B. The floppy is formatted in FAT 16. 
C. The boot sequence is setup incorrectly in the system’s BIOS. 
D. The HDD has more than one partition defined. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,C
98%
47/48
Rationales

A,D
2%
1/48
Rationales

Here

59. (Similar Question seen 108 times, last seen on 2/24/2003 12:00:00 AM
Click )

A customer just installed a new CD-RW. The system was working fine before the installation, but now the CD-ROM is inoperable. What should you suggest the customer should do?

A. Flash the BIOS. 
B. Check the CONFIG.SYS 
C. Add the CD-RW in the device manager. 
D. Check the jumper settings on the CD-RW. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
98%
43/44
Rationales

A
2%
1/44
Rationales
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60. (Similar Question seen 73 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

The resolution on a new 19" Ultra VGA monitor was set to 640x480 at 16 colors. You change the resolution to 800x600, high color (16-bit), and the monitor goes blank. What is most likely the problem?

A. The video card is using an IRQ. 
B. The video card is not installed properly. 
C. The monitor’s trapezoid setting is off. 
D. The refresh rate is too fast for the monitor. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
82%
46/56
Rationales

B
16%
9/56
Rationales

A
2%
1/56
Rationales

Here

61. (Similar Question seen 50 times, last seen on 2/24/2003 12:00:00 AM
Click )

What is your first action when your HDD reports that it is developing bad sectors?

A. Replace the drive. 
B. Run SECCLEAN from DOS. 
C. Run DEFRAG. 
D. Run SCANDISK with the “Thorough” option selected. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
98%
42/43
Rationales

A
2%
1/43
Rationales

Here

62. (Similar Question seen 73 times, last seen on 2/24/2003 12:00:00 AM
Click )

How is ink transferred to paper in common Ink-Jet printers? (choose two)

A. Boiling ink. 
B. Crystal. 
C. Motorized pump. 
D. Ink is sprayed on by a nozzle. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,C
2%
2/88
Rationales

B,D
5%
4/88
Rationales

A,B,D
2%
2/88
Rationales

A,B,C,D
1%
1/88
Rationales

A,B
24%
21/88
Rationales

A,D
52%
46/88
Rationales

C,D
14%
12/88
Rationales

Here

63. (Similar Question seen 71 times, last seen on 2/24/2003 12:00:00 AM
Click )

How are SCSI numbers prioritized? (Choose Two)

A. 0=lowest 
B. 0=highest 
C. 1=lowest 
D. 15=lowest 
E. 15=highest 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B,D
65%
45/69
Rationales

A,E
30%
21/69
Rationales

B,E
4%
3/69
Rationales

Here

64. (Similar Question seen 54 times, last seen on 2/24/2003 12:00:00 AM
Click )

What is different about a Vacuum for a computer compared to a standard Vacuum?

A. Less ESD. 
B. More ESD. 
C. Blows less forcefully. 
D. Sucks less forcefully. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
89%
33/37
Rationales

D
8%
3/37
Rationales

C
3%
1/37
Rationales
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65. (Similar Question seen 72 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

How many bits wide is the data bus for a 168 pin DIMM?

A. 16 bit. 
B. 32 bit 
C. 64 bit 
D. 128 bit 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
42%
194/457
Rationales

A
58%
263/457
Rationales

Question Locked

66. (Similar Question seen 58 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

What is the main communication method between PDA’s.

A. Infrared. 
B. USB. 
C. RS-232 
D. IEEE 1394 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
3%
1/33
Rationales

A
88%
29/33
Rationales

C
3%
1/33
Rationales

B
6%
2/33
Rationales

Here

67. (Similar Question seen 35 times, last seen on 2/22/2003 12:00:00 AM
Click )

Which of the following are considered to be consumables on a printer (Choose Two).

A. Print Heads. 
B. Ribbons. 
C. Corona Wires. 
D. Paper 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,B,C,D
2%
1/43
Rationales

B
5%
2/43
Rationales

B,C
2%
1/43
Rationales

A,B,D
2%
1/43
Rationales

B,D
79%
34/43
Rationales

A,D
2%
1/43
Rationales

A,B
7%
3/43
Rationales

Here

68. (Similar Question seen 52 times, last seen on 2/22/2003 12:00:00 AM
Click )

Which drive letter will be assigned to the drive at the end of the cable twist?

A. A 
B. B 
C. C 
D. D 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
95%
39/41
Rationales

B
5%
2/41
Rationales

Here

69. (Similar Question seen 67 times, last seen on 2/22/2003 12:00:00 AM
Click )

When installing a new printer, which of the following are possible causes of several lines of code being printed followed by several blank pages? (Choose Two)

A. Wrong printer driver. 
B. Empty toner cartridge. 
C. Overloaded paper tray. 
D. Loose printer cable. 
E. Faulty surge protector. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D,E
2%
1/59
Rationales

A
2%
1/59
Rationales

B,E
2%
1/59
Rationales

A,C
2%
1/59
Rationales

B,D
2%
1/59
Rationales

A,E
3%
2/59
Rationales

A,D
80%
47/59
Rationales

A,B
8%
5/59
Rationales
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70. (Similar Question seen 37 times, last seen on 2/14/2003 12:00:00 AM
Click Here)

With respect to a NIC, the term 10/100 refers to:

A. Protocol speed. 
B. Fiber Optic Speed. 
C. Megabits per second. 
D. Minimum and Maximum speeds. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
84%
46/55
Rationales

D
16%
9/55
Rationales

Here

71. (Similar Question seen 54 times, last seen on 2/1/2003 12:00:00 AM
Click )

Which of the following is the first step in diagnosing a dead computer that worked fine only yesterday?

A. Test the power supply. 
B. Replace the CMOS battery. 
C. Check the AC outlet. 
D. Reseat the HDD cables. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
91%
41/45
Rationales

B
2%
1/45
Rationales

A
7%
3/45
Rationales

Here

72. (Similar Question seen 58 times, last seen on 1/21/2003 12:00:00 AM
Click )

Which of the following needs to be used for networking two PC’s using Ethernet peer to peer over RJ-45 cabling?

A. Power cable. 
B. Printer cable. 
C. HDD cable. 
D. Crossover cable. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
98%
47/48
Rationales

A
2%
1/48
Rationales

Here

73. (Similar Question seen 49 times, last seen on 12/10/2002 11:16:16 PM
Click )

Which of the following is most likely the cause of a CMOS Checksum error upon boot?

A. Faulty power supply. 
B. Faulty RAM. 
C. Faulty Processor. 
D. HDD types incorrectly defined. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
2%
1/52
Rationales

B
58%
30/52
Rationales

A
35%
18/52
Rationales

D
6%
3/52
Rationales

Here

74. (Similar Question seen 40 times, last seen on 12/10/2002 11:15:44 PM
Click )

You just installed a new HDD. The system BIOS will not recognize it. Which of the following should you check first?

A. Cable Sequence. 
B. Jumper selection for Slave/Master on the HDD. 
C. Drivers. 
D. Web Site for HDD manufacturer. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
94%
29/31
Rationales

D
6%
2/31
Rationales

Question Locked

75. (Similar Question seen 36 times, last seen on 12/10/2002 11:15:42 PM
Click Here)

You install a large replacement hard drive in a users PC, however the system doesn’t recognize the full size what is the problem?

A. Damaged HD 
B. Incorrect Settings on the Jumper 
C. Y2K problem 
D. BIOS only supports the minimum/maximum size 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
88%
35/40
Rationales

B
10%
4/40
Rationales

A
2%
1/40
Rationales




76. (Similar Question seen 82 times, last seen on 2/28/2003 12:00:00 AM
Click Here)

How do you differentiate an ATA/33 cable from an ATA/66 cable?

A. Cable color. 
B. Cable Pin outs. 
C. Twists in the cable. 
D. The number of wires. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
88%
35/40
Rationales

B
10%
4/40
Rationales

A
2%
1/40
Rationales

Here

77. (Similar Question seen 78 times, last seen on 2/28/2003 12:00:00 AM
Click )

How many devices can function on a single IDE channel?

A. 1 
B. 2 
C. 3 
D. 4 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
100%
27/27
Rationales

Question Locked

78. (Similar Question seen 106 times, last seen on 2/27/2003 12:00:00 AM
Click Here)

A customer wants to add a 2nd IDE HDD to a machine that has only one IDE port. It already has a HDD and CD-ROM. What should the customer do?

A. Add a SCSI controller. 
B. Connect it to a spare floppy connector. 
C. Install a 4-device IDE cable. 
D. Add an IDE add-on card. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
100%
32/32
Rationales

Question Locked

79. (Similar Question seen 69 times, last seen on 2/27/2003 12:00:00 AM
Click Here)

How should you place terminations on a SCSI bus with one internal HDD and one external CD-ROM?

A. Terminate the HDD only. 
B. Terminate the SCSI interface card. 
C. Terminate both the HDD and the CD-ROM. 
D. Terminate the SCSI card, HDD, and the CD-ROM. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
89%
32/36
Rationales

A
11%
4/36
Rationales
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80. (Similar Question seen 79 times, last seen on 2/27/2003 12:00:00 AM
Click Here)

A video resolution of 800x600 is equivalent to which video mode?

A. EGA 
B. VGA 
C. CGA 
D. SVGA 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
94%
29/31
Rationales

B
6%
2/31
Rationales

Here

81. (Similar Question seen 73 times, last seen on 2/27/2003 12:00:00 AM
Click )

Exhibit of a SIMM card at 45 degree angle being inserted into its slot. Question: What is it?

A. 16 pin DIP 
B. DIMM 
C. 30 pin SIMM 
D. 72 pin SIMM 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
76%
35/46
Rationales

A
24%
11/46
Rationales

Here

82. (Similar Question seen 82 times, last seen on 2/26/2003 12:00:00 AM
Click )

What are the minimum hardware components required for a POST to complete? (Choose all that apply)

A. CPU 
B. RAM 
C. Mouse 
D. HDD 
E. Video Card 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B,C,E
2%
1/64
Rationales

A,B,D,E
9%
6/64
Rationales

A,B,C,D
2%
1/64
Rationales

A
2%
1/64
Rationales

A,B,E
77%
49/64
Rationales

A,B
6%
4/64
Rationales

A,B,D
3%
2/64
Rationales

Here

83. (Similar Question seen 66 times, last seen on 2/26/2003 12:00:00 AM
Click )

Which of the following are Slot 1 Compatible? (Choose Three)

A. PII 233 
B. Pentium 233 MMX 
C. PII 333 
D. PIII 800 
E. AMD Athlon 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,C
6%
3/47
Rationales

A,C,E
9%
4/47
Rationales

A,C,D
83%
39/47
Rationales

C,D,E
2%
1/47
Rationales

Here

84. (Similar Question seen 48 times, last seen on 2/26/2003 12:00:00 AM
Click )

Which problems will not be detected by an initial post?

A. Bad memory location. 
B. ROM BIOS configuration error. 
C. A stuck key on a keyboard. 
D. A RAM chip that fails at high temperature. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
85%
29/34
Rationales

A
6%
2/34
Rationales

C
9%
3/34
Rationales

Question Locked
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85. (Similar Question seen 41 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

Which of the following is a consequence of enabling shadowing in a computer BIOS?

A. Instructions stored in various ROM chips are copied into RAM. 
B. Values are stored twice in memory for redundancy checking. 
C. Conventional memory is remapped to the top of extended memory. 
D. Data stored in RAM and adaptive card is shadowed into extended memory. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
97%
35/36
Rationales

D
3%
1/36
Rationales

Here

86. (Similar Question seen 77 times, last seen on 2/24/2003 12:00:00 AM
Click )

By default which address does the primary IDE controller use?

A. 130H 
B. 170H 
C. 1F0H 
D. 300H 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
97%
35/36
Rationales

A
3%
1/36
Rationales

Here

87. (Similar Question seen 47 times, last seen on 2/24/2003 12:00:00 AM
Click )

What must you do to attach a new IDE HDD? (Choose Three)

A. Select a unique ID. 
B. Set the termination jumpers. 
C. Set the master/slave jumper. 
D. Ensure proper cable oreintation. 
E. Install it in the drive bay and secure it. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C,D,E
94%
34/36
Rationales

E
3%
1/36
Rationales

A,B,C,D,E
3%
1/36
Rationales

Here

88. (Similar Question seen 56 times, last seen on 2/24/2003 12:00:00 AM
Click )

What does memory mapped to I/O do?

A. Maps IRQ’s to PCI cards. 
B. Acquires a uniqe ID for each memory module. 
C. Duplicates the contents of the ROM BIOS into RAM. 
D. Uses the specified memory address for peripherals. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
82%
28/34
Rationales

C
15%
5/34
Rationales

A
3%
1/34
Rationales

Here

89. (Similar Question seen 56 times, last seen on 2/24/2003 12:00:00 AM
Click )

What statistic measure the time it takes the CRT’s electron beam to paint the screen from top to bottom?

A. Dot Pitch. 
B. Interlacing. 
C. Video RAM. 
D. Refresh Rate. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
90%
36/40
Rationales

A
8%
3/40
Rationales

B
2%
1/40
Rationales
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90. (Similar Question seen 116 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

A bent pin on a 3-door db-15 male connector plug would cause problems with which device or component.

A. Monitor. 
B. Mouse. 
C. Printer. 
D. External Modem. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
97%
36/37
Rationales

C
3%
1/37
Rationales

Here

91. (Similar Question seen 94 times, last seen on 2/24/2003 12:00:00 AM
Click )

After inserting a floppy disk and accessing the A: drive, you get an error message stating “Drive A not ready, Abort, Retry, or Fail” what two things should you suspect first? (choose two)

A. The drive is bad. 
B. The floppy disk is bad. 
C. The drive cable is bad. 
D. The power connector is loose. 
E. The drive is dirty and needs to be cleaned. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D,E
3%
1/35
Rationales

A,B,C,E
3%
1/35
Rationales

B,E
83%
29/35
Rationales

B,C
6%
2/35
Rationales

A,B
6%
2/35
Rationales

Here

92. (Similar Question seen 53 times, last seen on 2/22/2003 12:00:00 AM
Click )

While playing stereo CD audio, adjusting the left hand speaker’s volume from Windows, affects the right hand speakers instead. What are the most probable causes? (CHOOSE TWO)

A. An IRQ conflict exists. 
B. The volume controls are muted. 
C. An incorrect CD audio cable was used. 
D. Incorrect CODECs. 
E. The right hand speaker is plugged in to the wrong connector on the sound card. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C,E
89%
34/38
Rationales

C
8%
3/38
Rationales

E
3%
1/38
Rationales

Here

93. (Similar Question seen 52 times, last seen on 2/22/2003 12:00:00 AM
Click )

Which memory module is shown in the exhibit? (No exhibit available-be sure you can distinguish between 30 and 70 pin SIMMs; in this particular exhibit, a 30 pin SIMM was shown)

A. DIPP 
B. SIPP 
C. 30 pin SIMM 
D. 72 pin SIMM 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
4%
1/24
Rationales

C
88%
21/24
Rationales

D
4%
1/24
Rationales

A
4%
1/24
Rationales

Here

94. (Similar Question seen 55 times, last seen on 1/21/2003 12:00:00 AM
Click )

When installing a second HDD, what determines the drive letter.

A. End user 
B. Positioning of the cable. 
C. Operating system 
D. Drive manufacturer. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
77%
27/35
Rationales

B
14%
5/35
Rationales

A
9%
3/35
Rationales
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95. (Similar Question seen 58 times, last seen on 1/21/2003 12:00:00 AM
Click Here)

Which motherboard accepts a 5 DIN keyboard connector? (Choose Two)

A. AT 
B. XT 
C. LT 
D. ATX 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
2%
1/41
Rationales

A
2%
1/41
Rationales

A,B
83%
34/41
Rationales

A,D
10%
4/41
Rationales

D
2%
1/41
Rationales

Here

96. (Similar Question seen 52 times, last seen on 1/7/2003 12:00:00 AM
Click )

You would have to enable the INT 13H on a SCSI controller card in order to use which device?

A. Scanner 
B. Bernoulli 
C. Tape Device 
D. Bootable CD-ROM 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
2%
1/40
Rationales

C
68%
27/40
Rationales

D
15%
6/40
Rationales

B
15%
6/40
Rationales

Here

97. (Similar Question seen 41 times, last seen on 1/6/2003 12:00:00 AM
Click )

Which interrupt is cascaded to provide interrupts 9 through 15?

A. 1 
B. 2 
C. 3 
D. 4 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
97%
31/32
Rationales

A
3%
1/32
Rationales

Here

98. (Similar Question seen 43 times, last seen on 12/13/2002 7:50:13 AM
Click )

Which two ports are most often used to connect digital cameras? (choose two)

A. USB port. 
B. SCSI port. 
C. PS/2 port. 
D. Parallel Port 
E. RS-232 port. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,B,C,D,E
2%
1/40
Rationales

A,E
85%
34/40
Rationales

A,D
8%
3/40
Rationales

A
5%
2/40
Rationales

Here

99. (Similar Question seen 53 times, last seen on 12/13/2002 7:34:00 AM
Click )

When you boot your computer, the light on the diskette drive remains lit. What does this mean?

A. A disk is in the drive. 
B. No disk is in the drive. 
C. The data cable is inserted backwards. 
D. The diskette drive is functioning properly. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
100%
32/32
Rationales

Here

100. (Similar Question seen 52 times, last seen on 12/10/2002 11:15:47 PM
Click )

Which of the following devices are designed for an AGP slot?

A. HDD 
B. Serial Port 
C. Video Card 
D. External Storage Device. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
97%
33/34
Rationales

D
3%
1/34
Rationales




101. (Similar Question seen 77 times, last seen on 2/28/2003 12:00:00 AM
Click Here)

How much video ram is needed to display 1024x768 at 24-bit color?

A. 1 MB 
B. 4MB 
C. 8MB 
D. 512KB 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
92%
35/38
Rationales

C
5%
2/38
Rationales

A
3%
1/38
Rationales

Here

102. (Similar Question seen 58 times, last seen on 2/28/2003 12:00:00 AM
Click )

What are the advantages of the USB? (choose 3)

A. speed 
B. safety 
C. security 
D. expansion 
E. ease of configuration 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,D,E
97%
28/29
Rationales

A,E
3%
1/29
Rationales

Here

103. (Similar Question seen 59 times, last seen on 2/28/2003 12:00:00 AM
Click )

MMX was added to the pentium to:

A. improve printing speed 
B. speed up modem access to the internet 
C. improve security when using win95/98 
D. handle multimedia functions like sound and video 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
2%
1/42
Rationales

B
5%
2/42
Rationales

D
90%
38/42
Rationales

C
2%
1/42
Rationales

Here

104. (Similar Question seen 62 times, last seen on 2/28/2003 12:00:00 AM
Click )

What are the major hard drive settings in the CMOS? (choose 3)

A. heads 
B. tracks 
C. volume 
D. sectors 
E. cylinders 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,D,E
94%
30/32
Rationales

B,D,E
6%
2/32
Rationales
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105. (Similar Question seen 52 times, last seen on 2/28/2003 12:00:00 AM
Click Here)

How many devices total can be put on a secondary and primary IDE?

A. 2 
B. 3 
C. 4 
D. 5 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
96%
24/25
Rationales

D
4%
1/25
Rationales

Here

106. (Similar Question seen 39 times, last seen on 2/27/2003 12:00:00 AM
Click )

Which of the following should never be plugged into a UPS?

A. Monitor 
B. Laser Printer 
C. CPU 
D. External Zip Drive 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
10%
3/31
Rationales

B
84%
26/31
Rationales

A
6%
2/31
Rationales

Here

107. (Similar Question seen 37 times, last seen on 2/26/2003 12:00:00 AM
Click )

WRAM is used on a

A. modem 
B. video card 
C. motherboard 
D. ata connector 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
100%
24/24
Rationales

Here

108. (Similar Question seen 50 times, last seen on 2/24/2003 12:00:00 AM
Click )

What would cause a keyboard error message (choose 2)

A. stuck key 
B. pressing the F5 key 
C. keyboard not plugged in 
D. pressing cntrl-alt-esc 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
3%
1/35
Rationales

A,C
94%
33/35
Rationales

A
3%
1/35
Rationales

Here

109. (Similar Question seen 74 times, last seen on 2/24/2003 12:00:00 AM
Click )

The monitor is displaying mostly green and not the normal colors. which of the following would cause this? (choose 2)

A. the monitor is defective 
B. the refresh rate is too fast 
C. the resolution is set too high 
D. a pin on the connector is bent 
E. the drivers are installed incorrectly 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
2%
1/41
Rationales

A,B,D
2%
1/41
Rationales

B,D
2%
1/41
Rationales

D,E
7%
3/41
Rationales

A,D
85%
35/41
Rationales

Question Locked
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110. (Similar Question seen 55 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

What should be used to extinguish a computer fire?

A. fire hose 
B. class a extinguisher 
C. class c extinguisher 
D. silver foam water 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
100%
26/26
Rationales

Here

111. (Similar Question seen 60 times, last seen on 2/24/2003 12:00:00 AM
Click )

which device should not be plugged into a standard ups?

A. monitor 
B. laser printer 
C. ink-jet printer 
D. an external modem 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
97%
30/31
Rationales

C
3%
1/31
Rationales

Here

112. (Similar Question seen 71 times, last seen on 2/24/2003 12:00:00 AM
Click )

all of the following voltage/current combinations should be considered dangerous, but which of these combinations is most likely to cause serious injury or death?

A. 120 volts dc at 5 amps 
B. 5 volts dc at 100 milliamps 
C. 12 volts dc at 200 milliamps 
D. 240 volts dc at 10 milliamps 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
97%
29/30
Rationales

B
3%
1/30
Rationales

Here

113. (Similar Question seen 38 times, last seen on 2/24/2003 12:00:00 AM
Click )

What type of memory is included on Single Edge Connector Pentium II processor:

A. L1 
B. L2 
C. L3 
D. L4 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
64%
25/39
Rationales

A
36%
14/39
Rationales

Here

114. (Similar Question seen 45 times, last seen on 2/24/2003 12:00:00 AM
Click )

What is the normal way for two Personal Digital Assistants (PDA) to communicate with each other:

A. IR 
B. USB 
C. SCSI 
D. LPT 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
92%
22/24
Rationales

C
4%
1/24
Rationales

B
4%
1/24
Rationales
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115. (Similar Question seen 51 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

SCSI can be connected using the following expansion slots (choose 2):

A. PCI 
B. USB 
C. EISA 
D. IEEE 1394 
E. IEEE 1284 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,C
72%
33/46
Rationales

A
4%
2/46
Rationales

D,E
2%
1/46
Rationales

A,B
9%
4/46
Rationales

A,D
7%
3/46
Rationales

A,E
7%
3/46
Rationales

Here

116. (Similar Question seen 36 times, last seen on 2/22/2003 12:00:00 AM
Click )

You have just installed a new internal pci modem on you desktop. it will not dial out. what is the problem?

A. The port speed is set too high 
B. the modem has not been set up in control panel properties 
C. the phone line is plugged into the line-in port on the modem card 
D. the phone line out of the wall is plugged into the phone port on the modem card 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
9%
3/34
Rationales

D
88%
30/34
Rationales

B
3%
1/34
Rationales

Here

117. (Similar Question seen 38 times, last seen on 2/22/2003 12:00:00 AM
Click )

You have just installed a 128 mb, 168 pinn on your atx. you already had 128 mb in 2 72 pin slots using simm. when you turn on your system, it's only recognizing 128 mb of ram total. which of the folling are possible causes? (choose 3)

A. you need to upgrad or update your bios 
B. bios is not set to read both types of memory 
C. a jumper is not set to support both types of memory 
D. the motherboard only supports one type of memory at a time 
E. you need to remove on of the 72-pin memory chips so you have one of each 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,B,C
3%
1/33
Rationales

D
3%
1/33
Rationales

B,C,D
73%
24/33
Rationales

B,D,E
6%
2/33
Rationales

A,B,D
15%
5/33
Rationales

Here

118. (Similar Question seen 33 times, last seen on 2/22/2003 12:00:00 AM
Click )

Which processors will fit in the same socket? (choose 3)

A. amd k7 
B. cyrix MII 
C. amd k6 
D. pentium II 
E. pentium MMX 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B,D,E
3%
1/38
Rationales

B,C,D
8%
3/38
Rationales

B,C,E
79%
30/38
Rationales

A,C,E
11%
4/38
Rationales

Here

119. (Similar Question seen 49 times, last seen on 2/22/2003 12:00:00 AM
Click )

When installing pci nics you can check the irq availability by looking at:

A. dip switches 
B. config.sys 
C. jumper settings 
D. motherboard bios 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
92%
23/25
Rationales

B
8%
2/25
Rationales
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120. (Similar Question seen 41 times, last seen on 2/22/2003 12:00:00 AM
Click Here)

Which of the following are characteristics of p-to-p networking (choose 2)

A. router 
B. tcp/ip protocol 
C. centralized security and admin 
D. limited number of computers involved 
E. computer acting as both a client and a server 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D,E
96%
23/24
Rationales

B,E
4%
1/24
Rationales

Here

121. (Similar Question seen 46 times, last seen on 2/22/2003 12:00:00 AM
Click )

When configuring isa network interface cards without jumpers or plug and play, what is used to set the irqs?

A. dma 
B. cmos 
C. the OS 
D. configuration software 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
76%
25/33
Rationales

B
21%
7/33
Rationales

A
3%
1/33
Rationales

Here

122. (Similar Question seen 34 times, last seen on 2/22/2003 12:00:00 AM
Click )

Which of the following are not capable of full-duplex communications?

A. USB 
B. Parallel 
C. Serial 
D. IEEE 1394 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
38%
18/47
Rationales

B
62%
29/47
Rationales

Here

123. (Similar Question seen 35 times, last seen on 2/22/2003 12:00:00 AM
Click )

Which of these ports look similar to each other (choose 2):

A. USB 
B. PS/2 
C. Serial mouse 
D. SCSI 
E. Parallel 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D,E
62%
36/58
Rationales

B,C
14%
8/58
Rationales

A,C
24%
14/58
Rationales

Here

124. (Similar Question seen 32 times, last seen on 2/22/2003 12:00:00 AM
Click )

Where is the Regedit.exe file located in Windows 98?

A. the C:\windows directory 
B. the C:\windows\help directory 
C. the C:\windows\command directory 
D. the C:\windows\applog directory 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
8%
2/25
Rationales

D
12%
3/25
Rationales

A
76%
19/25
Rationales

C
4%
1/25
Rationales

Here

125. (Similar Question seen 36 times, last seen on 1/23/2003 12:00:00 AM
Click )

Which type of cable is most likely in use with rj-45 connectors?

A. 10base2 
B. 10base5 
C. 10baseT 
D. 10baseFL 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
96%
26/27
Rationales

A
4%
1/27
Rationales




126. (Similar Question seen 46 times, last seen on 2/28/2003 12:00:00 AM
Click Here)

The Duron CPU is used for:

A. Print Servers 
B. Cad 
C. high end workstations 
D. Engineering


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
42%
15/36
Rationales

A
56%
20/36
Rationales

B
3%
1/36
Rationales

Here

127. (Similar Question seen 47 times, last seen on 2/27/2003 12:00:00 AM
Click )

A customer calls you and says her computer is loading web pages off the internet very slowly. Upon investigation, she tells you that her temporary internet files is set for 600 Megs.

What might you advise her that would help speed up her internet page loading?

A. Change the temporary internet files size to 900 Megs. 
B. Change ISP's 
C. Delete internet history 
D. Hit the refresh button 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
20%
5/25
Rationales

A
20%
5/25
Rationales

C
52%
13/25
Rationales

B
8%
2/25
Rationales

Here

128. (Similar Question seen 55 times, last seen on 2/27/2003 12:00:00 AM
Click )

A customer calls and says his 56K modem only gets 28.8 baud. What could be the problem? (choose 2)

A. Noise on the telephone line 
B. Defective modem 
C. ISP problem 
D. Surf the web for updated v.90 modem driver for his modem 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,D
25%
6/24
Rationales

A,C
75%
18/24
Rationales

Here

129. (Similar Question seen 58 times, last seen on 2/27/2003 12:00:00 AM
Click )

A customer wants to configure two computers in a peer-to-peer network. Both computers have Ethernet NICs installed.

What type of connector cable would be needed for this installation?

A. BNC coax 
B. Straight-through 
C. Crossover 
D. Thicknet 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
94%
16/17
Rationales

A
6%
1/17
Rationales
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130. (Similar Question seen 38 times, last seen on 2/27/2003 12:00:00 AM
Click Here)

Another name for a uninterruptable power supply is:

A. Surge protector 
B. Battery backup 
C. power strip 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
64%
28/44
Rationales

C
36%
16/44
Rationales

Here

131. (Similar Question seen 27 times, last seen on 2/26/2003 12:00:00 AM
Click )

WRAM is used for what?

A. System 
B. Cache 
C. Video 
D. Buffers 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
92%
12/13
Rationales

D
8%
1/13
Rationales

Here

132. (Similar Question seen 30 times, last seen on 2/26/2003 12:00:00 AM
Click )

You are called to Cindy's workstation to find out why she can't log on to the network. You can use her user name and password to log on at your admin computer but not on her computer.

What might be the most likely cause of this problem?

A. incorrect user name and password 
B. The patch cable for her workstation is defective 
C. Her software is configured incorrectly 
D. IRQ conficts 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
87%
13/15
Rationales

C
13%
2/15
Rationales

Here

133. (Similar Question seen 51 times, last seen on 2/24/2003 12:00:00 AM
Click )

How do PDAs most often communicate with one another?

A. IR 
B. USB 
C. RS232 
D. IEEE 1284 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
94%
17/18
Rationales

B
6%
1/18
Rationales

Here

134. (Similar Question seen 45 times, last seen on 2/24/2003 12:00:00 AM
Click )

What protocol requires unique addressing through software?

A. Netware 
B. Netbeui 
C. TCP/IP 
D. Appletalk 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
90%
18/20
Rationales

B
10%
2/20
Rationales
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135. (Similar Question seen 64 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

How is the output measured on a Dot Matrix printer? (Choose the best answer)

A. Pages Per Minute 
B. Characters Per Minute 
C. Lines Per Minute 
D. Characters Per Second 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
90%
19/21
Rationales

A
5%
1/21
Rationales

C
5%
1/21
Rationales

Here

136. (Similar Question seen 39 times, last seen on 2/24/2003 12:00:00 AM
Click )

What is the function of printer emulation.

A. Something Else 
B. Cancel a printer 
C. Imitating another device or program 
D. Copy a driver 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
81%
13/16
Rationales

A
19%
3/16
Rationales

Here

137. (Similar Question seen 57 times, last seen on 2/24/2003 12:00:00 AM
Click )

A customer calls and says he can't see an entire web page on his monitor but must use the scroll bars to navigate the page.

What would be the first thing you recommend to him to remedy his problem?

A. Purchase a larger monitor 
B. Reinstall the video monitor driver 
C. Change resolution to 800x600 
D. Reinstall the video card driver 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
81%
13/16
Rationales

D
6%
1/16
Rationales

A
12%
2/16
Rationales

Here

138. (Similar Question seen 49 times, last seen on 2/24/2003 12:00:00 AM
Click )

A printer cable could have what kind of connections at each end? (choose 2)

A. DB9 
B. Centronix 
C. DB25 
D. RJ-45 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B,C
81%
13/16
Rationales

C,D
12%
2/16
Rationales

A,C
6%
1/16
Rationales

Here

139. (Similar Question seen 41 times, last seen on 2/24/2003 12:00:00 AM
Click )

The power cord for the docking station that attaches a laptop is:

A. Manufacturer specific 
B. Industry standard 
C. Proprietary 
D. Unique for each mfg's docking station 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
18%
4/22
Rationales

B
27%
6/22
Rationales

D
41%
9/22
Rationales

C
14%
3/22
Rationales
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140. (Similar Question seen 54 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

A laser printer is taking in multiple sheets of paper one pass at a time. What might be the cause of this problem? (Choose 3)

A. Humidity 
B. Sheet fed separator pads worn 
C. Fuser 
D. Toner Cartridge 
E. Print media 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,B,E
93%
13/14
Rationales

A,B,C
7%
1/14
Rationales

Here

141. (Similar Question seen 43 times, last seen on 2/24/2003 12:00:00 AM
Click )

A SCSI controller card would be considered what kind of device?

A. PCI 
B. ISA 
C. I/O card 
D. USB 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
80%
12/15
Rationales

B
13%
2/15
Rationales

D
7%
1/15
Rationales

Here

142. (Similar Question seen 31 times, last seen on 2/24/2003 12:00:00 AM
Click )

What information pertaining to hard drives is stored in CMOS?

A. The physical dimensions, weight, and size of the hard drive 
B. The hard drive capacity 
C. Cylinders, heads, and sectors 
D. The manufacturer of the hard drive 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
94%
15/16
Rationales

D
6%
1/16
Rationales

Here

143. (Similar Question seen 29 times, last seen on 2/24/2003 12:00:00 AM
Click )

What type of device would be needed to extend the range of a 10base2 network?

A. Hub 
B. Repeater 
C. Amplifier 
D. Server 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
87%
13/15
Rationales

C
7%
1/15
Rationales

A
7%
1/15
Rationales

Here

144. (Similar Question seen 32 times, last seen on 2/22/2003 12:00:00 AM
Click )

You have a modem that will only work on COM1 or COM2. One way to simplify installation is:

A. disable a serial port 
B. manually assign the modem IRQ to 5 ??? 
C. change the floppy drive IRQ setting 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
87%
13/15
Rationales

B
13%
2/15
Rationales
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145. (Similar Question seen 36 times, last seen on 2/22/2003 12:00:00 AM
Click Here)

Which of the following is NOT capable of full-duplex transmission?

A. USB 
B. serial 
C. parallel 
D. IEEE 1394 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
36%
17/47
Rationales

C
64%
30/47
Rationales

Here

146. (Similar Question seen 24 times, last seen on 2/22/2003 12:00:00 AM
Click )

You are trying to print a DOS document on your network printer while in DOS from your windows 9x computer. The DOS document will not print. You can print a document on your network printer when in the Windows environment.

What could be the problem?

A. The printer not mapped properly 
B. You must first capture the printer port 
C. Printer drivers not installed properly 
D. Log off, log back on and try again 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
100%
10/10
Rationales

Here

147. (Similar Question seen 25 times, last seen on 2/22/2003 12:00:00 AM
Click )

You have a PII 200 MHz processor on a motherboard. What bus speed will the motherboard require?

A. 50 MHz 
B. 60 MHz 
C. 70 MHz 
D. 80 MHz 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
7%
1/14
Rationales

B
86%
12/14
Rationales

C
7%
1/14
Rationales

Here

148. (Similar Question seen 45 times, last seen on 2/19/2003 12:00:00 AM
Click )

Your monitor is displaying primarily green colors. What could be the symptom to cause this? (choose 2)

A. The video drivers need to be reinstalled 
B. The monitor's power supply is failing 
C. There might a bent pin in the monitor's connector cable 
D. The monitor might be bad 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C,D
93%
13/14
Rationales

A,D
7%
1/14
Rationales

Here

149. (Similar Question seen 30 times, last seen on 12/10/2002 11:17:09 PM
Click )

You attempt to dial up and connect to the internet when your mouse pointer freezes on the monitor.

What would be the first thing you would check to resolve the problem?

A. Reboot the computer and attempt to connect again 
B. IRQ conflict 
C. Mouse driver 
D. Defective modem settings 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
68%
15/22
Rationales

C
9%
2/22
Rationales

A
23%
5/22
Rationales

Here

150. (Similar Question seen 39 times, last seen on 12/10/2002 11:16:23 PM
Click )

Which of the following are associated with ROM? (Choose 3)

A. BIOS 
B. POST 
C. DMA 
D. CMOS 
E. MBR 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,D
4%
1/24
Rationales

A,B,D
79%
19/24
Rationales

A,B,E
12%
3/24
Rationales

B,C,E
4%
1/24
Rationales




151. (Similar Question seen 7 times, last seen on 2/27/2003 12:00:00 AM
Click Here)

A user connects to a website three times and gets the message, "This page can not be displayed." what is the most likely problem?

A. host server is down 
B. IP address has changed 
C. Password file is corrupt 
D. conflict in Device Manager 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
100%
7/7
Rationales

Here

152. (Similar Question seen 8 times, last seen on 2/27/2003 12:00:00 AM
Click )

An LCD monitor uses which of the following:

A. 120v AC 
B. 120v DC 
C. Low voltage AC 
D. Low voltage DC 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
5%
1/19
Rationales

A
21%
4/19
Rationales

D
58%
11/19
Rationales

C
16%
3/19
Rationales

Here

153. (Similar Question seen 43 times, last seen on 2/26/2003 12:00:00 AM
Click )

What is the major difference between USB and IEEE 1394?

A. IEEE 1394 is faster 
B. USB is hotswappable 
C. PNP 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
5%
1/19
Rationales

A
89%
17/19
Rationales

B
5%
1/19
Rationales

Here

154. (Similar Question seen 28 times, last seen on 2/26/2003 12:00:00 AM
Click )

What is the minimum cable length for 100base T4?

A. cat 3 
B. cat 4 
C. cat 5 
D. cat 6 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
3%
1/39
Rationales

A
46%
18/39
Rationales

C
49%
19/39
Rationales

B
3%
1/39
Rationales
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155. (Similar Question seen 3 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

When do you replace the CMOS?

A. When you replace the CPU 
B. You never have to replace CMOS 
C. When CMOS can not be flashed anymore 
D. All the above 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
9%
1/11
Rationales

B
55%
6/11
Rationales

D
18%
2/11
Rationales

C
18%
2/11
Rationales

Here

156. (Similar Question seen 7 times, last seen on 2/26/2003 12:00:00 AM
Click )

What is the IO address for com3

A. =2f8h 
B. =2e8h 
C. =3f8h 
D. =3e8h 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
83%
10/12
Rationales

A
8%
1/12
Rationales

C
8%
1/12
Rationales

Here

157. (Similar Question seen 40 times, last seen on 2/24/2003 12:00:00 AM
Click )

Cmos holds parameter info for all but:

A. Hard disks 
B. Floppy disks 
C. Time zone 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
83%
15/18
Rationales

B
17%
3/18
Rationales

Here

158. (Similar Question seen 29 times, last seen on 2/24/2003 12:00:00 AM
Click )

Which will definitely damage a Hard disk?

A. plugging the cable backwards 
B. forcing a floppy cable on it 
C. using a 'Y' splitter with 5 and 12v swapped. 
D. power supply supplying constantly less than 12v on 12v pin 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
76%
16/21
Rationales

D
10%
2/21
Rationales

B
14%
3/21
Rationales

Here

159. (Similar Question seen 55 times, last seen on 2/24/2003 12:00:00 AM
Click )

A nic card with a ST or SC connector is for which kind of network?

A. 10Base T 
B. Thinnet 
C. Fiber optic 
D. Serial 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
45%
53/118
Rationales

A
55%
65/118
Rationales
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160. (Similar Question seen 26 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

How many 168 pin DIMM are required per memory bank?

A. 1 
B. 2 
C. 6 
D. 8 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
100%
10/10
Rationales

Here

161. (Similar Question seen 30 times, last seen on 2/24/2003 12:00:00 AM
Click )

what is the paper feeding technology most asscociated with dot matrix?

A. sweet feed 
B. tractor 
C. fraction 
D. manual 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
100%
13/13
Rationales

Here

162. (Similar Question seen 26 times, last seen on 2/24/2003 12:00:00 AM
Click )

what type of IDE translates?

A. LBA 
B. UTB 
C. QIC 
D. USB 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
100%
11/11
Rationales

Here

163. (Similar Question seen 23 times, last seen on 2/24/2003 12:00:00 AM
Click )

where is hard disk information stored into?

A. RAM 
B. CMOS 
C. Boot.ini 
D. System.ini 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
100%
12/12
Rationales

Here

164. (Similar Question seen 28 times, last seen on 2/24/2003 12:00:00 AM
Click )

The process of refreshing memory is a process of..?

A. testing memory register 
B. cleaning the memory for reuse 
C. recharging or re-energising the registers 
D. deleting memory before shutting down the system. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C
69%
18/26
Rationales

B
27%
7/26
Rationales

D
4%
1/26
Rationales
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165. (Similar Question seen 35 times, last seen on 2/24/2003 12:00:00 AM
Click Here)

After installing a hard drive, you try to format, but you get a error message saing 'invalid media type' what should you do?

A. FDISK 
B. CHKDSK 
C. DISKFRAG 
D. SCANDISK 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
100%
14/14
Rationales

Here

166. (Similar Question seen 4 times, last seen on 2/24/2003 12:00:00 AM
Click )

What can cause a motherboard to stop working? (choose 3)

A. Losing power while flashing the BIOS 
B. Interrupting the installation of a printer. 
C. Plugging in a serial mouse while power is on. 
D. Plugging in a PS\2 mouse while power is on. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,C,D
100%
5/5
Rationales

Here

167. (Similar Question seen 5 times, last seen on 2/24/2003 12:00:00 AM
Click )

What are the starting and ending number for DMA channels? (choose 2)

A. 0 
B. 1 
C. 7 
D. 8 
E. 9 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,C
100%
7/7
Rationales

Here

168. (Similar Question seen 19 times, last seen on 2/22/2003 12:00:00 AM
Click )

what would cause error message 'bad or missing operating system at bootup'?

A. No CD Rom 
B. Missing corrupt boot sector 
C. Second handdrive not powered on 
D. bad floppy drive cable connection 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
83%
15/18
Rationales

A
17%
3/18
Rationales

Here

169. (Similar Question seen 15 times, last seen on 2/22/2003 12:00:00 AM
Click )

which devices can cause interference with modem connection? (choose two)

A. fan 
B. phone 
C. printer port 
D. fax machine 
E. power supply 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B,D
75%
12/16
Rationales

A,B,C,D,E
6%
1/16
Rationales

A,E
19%
3/16
Rationales
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170. (Similar Question seen 21 times, last seen on 2/22/2003 12:00:00 AM
Click Here)

Which of the following are FRU's? (choose three)

A. RAM 
B. ROM 
C. CPU 
D. ZIP Socket 
E. CMOS Battery 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,C,E
87%
20/23
Rationales

A,B,C,D,E
13%
3/23
Rationales

Here

171. (Similar Question seen 27 times, last seen on 2/22/2003 12:00:00 AM
Click )

which component must be vacumed or replaced during preventative maintenance on a laser printer?

A. ozone filter 
B. scanning mirror 
C. developing blade 
D. photosensitive drum 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
69%
18/26
Rationales

C
27%
7/26
Rationales

D
4%
1/26
Rationales

Here

172. (Similar Question seen 55 times, last seen on 2/22/2003 12:00:00 AM
Click )

which parallel port types allow use of peripherals such as tape back ups and disk drives? (choose three)

A. USB 
B. EPP 
C. ECP 
D. bi-directional 
E. uni-directional 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A,B,C
7%
1/15
Rationales

B,C,D
87%
13/15
Rationales

A,B,D
7%
1/15
Rationales

Here

173. (Similar Question seen 3 times, last seen on 2/22/2003 12:00:00 AM
Click )

You have a legacy NIC. What settings can you change using the jumpers? (Choose 2)

A. MAC address 
B. IRQ 
C. I/O address 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B,C
100%
5/5
Rationales

Here

174. (Similar Question seen 4 times, last seen on 2/19/2003 12:00:00 AM
Click )

Your computer is working properly except that sometimes lines and some graphics are not shown on the screen. What could fix the problem?

A. Increase the hardware acceleration 
B. Decrease the hardware acceleration 
C. Adjust the horizontal pitch ... 
D. Increase the monitor refresh rate 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
83%
5/6
Rationales

D
17%
1/6
Rationales

Here

175. (Similar Question seen 1 times, last seen on 12/30/2002 7:19:54 PM
Click )

You work for an ISP under an experienced Technician. One day you overhear a phone call to a customer where the customer keeps getting logon errors. You hear her tell the customer to keep running Scandisk and Defrag. Why do you think she is saying this?

A. The .pwl is corrupt 
B. The correct modem driver needs to be installed 
C. The Tech is waiting for the network to come back up 
D. The partition information has corrupted 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

D
10%
1/10
Rationales

A
30%
3/10
Rationales

C
60%
6/10
Rationales
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176. (Similar Question seen 5 times, last seen on 2/26/2003 12:00:00 AM
Click Here)

What DMA address is the floppy cable connected to?

A. 1 
B. 2 
C. 3 
D. 4 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
100%
11/11
Rationales

Here

177. (Similar Question seen 3 times, last seen on 2/26/2003 12:00:00 AM
Click )

You try to print something on a laser printer. The job gets processed with no delay but only a blnak sheet of paper comes out of the printer. What could be the problem?

A. bad fuser 
B. bad or empty toner cartridge 
C. the tape was not removed from the toner 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
32%
7/22
Rationales

C
50%
11/22
Rationales

A
18%
4/22
Rationales

Here

178. (Similar Question seen 5 times, last seen on 2/24/2003 12:00:00 AM
Click )

What is the correct order for the laser print process?

A. Cleaning, Conditioning, Writing, Developing, Transferring and Fusing. 
B. Conditioning, Cleaning, Writing, Developing, Transferring and Fusing. 
C. Cleaning, Conditioning, Developing, Writing, Transferring and Fusing. 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

B
7%
1/14
Rationales

A
93%
13/14
Rationales

Here

179. (Similar Question seen 2 times, last seen on 2/22/2003 12:00:00 AM
Click )

Which type of connector would most likely be used to connect a digital camcorder?

A. USB 
B. SCSI
C. IEEE 1284 
D. IEEE 1394 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

A
12%
1/8
Rationales

D
88%
7/8
Rationales
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180. (Similar Question seen 1 times, last seen on 2/6/2003 7:15:26 PM
Click Here)

You install a new hard drive on a laptop computer. The drive will not work.

How could you rule out the IDE controller on the laptop? (choose 2)

A. replace the motherboard 
B. replace the hard drive 
C. connect a 2.5 to 3.5 connector onto the drive and connect it to your desktop system to rule out the laptop drive 
D. connect a 3.5 to 2.5 connector to attach a desktop hard drive to the laptop and see if the drive works 


PRIVATE
Answer(s) 
Rank (%) 
Rank (# votes) 
Answer Rationale 

C,D
47%
7/15
Rationales

B,D
13%
2/15
Rationales

A,B
7%
1/15
Rationales


7%
1/15
Rationales

B
7%
1/15
Rationales

B,C
20%
3/15
Rationales


